0§

S

B2 2y o1 py. w7

7Y 540,200 < F 9370 B.085afm |

" 1613 = 1 ) T2 Y
( V3 100 2 (20 ate n: {1 7o: 23°%C . 236k

4 G O — o
Y 77 190.3,10- 11 0082 T T .24922k.207°C

Sench AT th 10l o SO ¢ o cocAre.  os o

e 4 %,Mtp ok oob.. o 1O g/ e /204 v o obs /’Cé? o,
b ,
A A A

D, » S
- — ﬁgﬁ/ﬂ/@”/’v T - 3ok %//j\é 2

4 90107 10773

V- m&7 fa- 1,381 /0'_”{3‘/;

-9 -6 .
G0.10 " 10 . p 1280 07 200

o
/l/' Z/ Z . /(Q W/é?r//é;S /




-

y o /L . s "
jha/ e é/(. /x) A/—g ‘;4 /0 mgé?uéj/ S &

e ——

-2% é
D) P 0,032 4835 = 2,6-10  Fyx /
= A —
602 10 - - _




€ . ,ﬂ
v el ol omfcks se oA of e

engant ot se geerme, o o 0STE I 2

% C 0/5 oes e (‘571{ ) Yz

A /_A/ (A o) £
— | V / ?

17 OS¢

&//D ’ f %‘//) //4(/_ C/C//J/ZWF) B /{/A’” V}?_/(’ _y @ WriAca ¥ 9e
Z / :?/f NIO W7t /~ / > / ,_i 0o,

: 2 3 C ‘,,' co”t
P r? & /“ C S

) ,—// &
Wi //~ Vel 2L

n-"P » &2 / t ol

(‘/ e M ;
j o 5@//% /(/"13

-2 & -5 ,
. 0032 234 (0 . 2 lo N
. ,

/3/‘ o 2
- 6, 0210 o

“ =

F)Q'Ej /2 —11% /

G) 107/m = /05/? /ﬁr A m. l/?

s
105 M.og032 534 10° s
_— _‘6,5(“ [O /(/: 37 /C) ’p}v/a(

770

g 02.10° 03




2 V- WET

105 10" - A 138110 200

N 2,49 0°°

ECh

as  proferiibs

Eri

é’/>¢oﬂaf

\ >

— (897 — & 3
/w%ﬂ —




20 8 Sy

n

&7 Co. AT » (- 208. 20. 2,5 - /55600 L

 —~ )
230
/ /O= /<;/,,
S 2
/ - e e A asca e

”\? / 7~ o0k O30 /0. 73 f?S‘z /ogg
% / ./(/ )

| R

[

25200 hoA- 92,2 4. 5315280 L. 0,785 he2Bsem |




@4/ Plwe). 256007

2 2
w-60f . R Z-06. 234 wAR -4 10F
%=
B Dy BT //4-/03'1@2—" y 215,293 |
o.o8 1
177 //04 /O-Z? K /Omay, //
y




